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QUESTION 1

You want to visibly verify FC port initialization by reading an analyzer trace. Your objective is to find the frames
associated with the initialization protocol to ensure that the FC device is operating correctly during the login process, to
be recognized as part of the switched fabric, and appear in a directory of attached FC devices. 

What must all Fibre Channel devices do to accomplish this? 

A. Log in using the Name server. 

B. Log in using the Fabric Controller. 

C. Log in using the Management server. 

D. Log in using the Fabric Login server. 

Correct Answer: D 

 

QUESTION 2

Which two high availability elements can be achieved by remote storage replication? (Choose two.) 

A. Recoverability 

B. Fault tolerance 

C. Robustness 

D. Redundancy 

E. Serviceability 

Correct Answer: AD 

 

QUESTION 3

A customer has upgraded all switches in their redundant fabrics during a single maintenance window. Shortly after the
upgrades are completed on the core switches, all servers lose access to all SAN attached storage. 

What would have prevented this scenario? 

A. High availability 

B. Fault tolerance 

C. Change or risk management 

D. Clustered servers 

Correct Answer: C 
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QUESTION 4

A company has a storage subsystem that supports a variety of replication options. They have purchased an identical
array and placed it at a secondary site 4,200 km away and want to keep the two arrays as closely synchronized as
possible. 

Which solution should be chosen? 

A. Asynchronous replication is the only replication option for distances of this length. 

B. Synchronous replication is the only replication option for distances over 4,000 km. 

C. Snapshots allow for data to be quickly captured, copied, and mounted from one storage array to another and is the
ideal solution for all distances. 

D. Synchronous replication will keep the arrays in the closest sync and is ideal for short distances such as 4,200 km. 

Correct Answer: A 

 

QUESTION 5

You have a server which is booting from a SAN. After adding new SAN storage to a host, the host will not boot from the
SAN. 

What will resolve this problem? 

A. LUN masking 

B. Persistent binding 

C. Trunking 

D. Multiplex binding 

Correct Answer: B 
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